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ljlzi6Ls/0f tflnsf (Test specification Chart) 
 Grade 6 - 8 

2078 

Subject M Mathematics      Full marks : 50    Time : 2 hrs 
S.N. Areas Total 

working 
hours 

Knowledge  Understanding  Application  Higher ability  Total 
number 
of items 

Total 
number of 
questions 

Total 
Marks 

Number 
of items 

Marks Number 
of items 

Marks Number 
of items 

Marks Number 
of items 

Marks 

1. Sets 10 

1 1 1 1 2 3 1 1 5 2 

3 

2. Statistics 10 3 

3. Arithmetic 45 2 2 3 4 3 5 2 3 10 3 14  

4. Mensuration 15 1 1 1 1 1 2 1 1 4 1 5 

5. Algebra 30 2 2 1 2 2 4 1 2 6 3 10  

6. Geometry 50 2 2 2 4 2 6 2 3 8 3 15  

  160 8 8 8 12 10 20 7 10 33 12 50 
 

b|i6Jo   

§ k|Zgkq lgdf{0f ubf{ k|To]s If]qdf / ;du|df 1fg, af]w, k|of]u / pRr bIftfsf nflu tf]lsPcg';f/sf] ef/ ldn]sf] x'g'kb{5 . ;+1fgfTds txdf @ 
cª\s;Dd 36a9 x'g ;Sg] 5 .  

§ ;Gbe{ lbP/ k|Zgx¿ lgdf{0f ug'{kg]{ 5 . k|To]s k|Zgdf PseGbf a9L ;+1fgfTds txsf pkk|Zgx¿ ;dfj]z ug{ ;lsg] 5 .  

§ Application / higher ability txsf k|Zgx¿ lgdf{0f ubf{ ;DalGwt If]qsf cnfjf cGo If]qsf ljifoj:t';Fu ;DalGwt k|Zgx¿ klg /xg ;Sg] 
5g\ .  

§ x/]s If]qcGtu{t /x]sf ;a} pkIf]qsf ljifoj:t'x¿ ;dfg'kflts ¿kdf ;dfj]z x'g] u/L k|Zgx¿ lgdf{0f ug'{kg]{ 5 . Curr
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gd'gf k|Zgkq (Model question) 

sIff M 6          k"0ff{ª\s M 50 

ljifo M ul0ft          ;do M 2 306f 

;a} k|Zgx¿ clgjfo{ 5g\ . (All the questions are compulsory.) 
 

1. lbOPsf ;ª\Vofx¿sf] ;ª\sngnfO{ cjnf]sg u/L lgDglnlvt k|Zgx¿sf] pQ/ lbg'xf];\ M 
 Answer the following questions based on the given collected numbers: 
 2,3,5,7,11,13,17,19  
 -s_ dfly lbOPsf] ;ª\Vofx¿sf] ;ª\sng /fd|f];Fu kl/eflift ;ª\sng xf] jf xf]Og < sf/0f;lxt n]Vg'xf];\ .  
  State whether the given collection of numbers is well-defined or not? Write with reason.  [1HA] 
 -v_ pSt ;ª\sngnfO{ ;d"x ;ª\s]tdf n]Vg'xf];\ .  Write the presented collection of numbers in set 

 notation.           [1K] 
 -u_ pSt ;d"xnfO{ ;d"x lgdf{0f ljlwaf6 n]Vg'xf];\ . Write the given set in a set-builder method.  [1A] 
2. -s_ lbOPsf ;ª\Vofx¿n] lgMz]if efu hfg] ;a}eGbf ;fgf] ;ª\VofnfO{ tL ;ª\Vofx¿sf] =================elgG5 . 

 The smallest number which is exactly divisible by the given numbers is called....... [1K] 

-v_ sIff 6 sf ljBfyL{x¿nfO{ nx/ / kª\lStdf 9/9 hgfsf b/n] a/fa/ x'g] u/L sjfh v]nfpg v]ns'b 
 lzIfsn] nfOgdf ldnfpg vf]Hbf 3 hgf ljBfyL{ a9L eP5g\ eg] hDdf slt ljBfyL{ /x]5g\, kQf  
 nufpg'xf];\ . The drill teacher tried to arrange grade six students in equal rows and columns with 
 9/9 students, but the number of students exceeded by 3. Now find out the total number of students 
 in the class.              [2A]  

 -u_ cg'n] 40 ?lkofF kg]{ 5 cf]6f sfkL / 25 ?lkofF kg]{ 2 cf]6f snd lsg]/ k;n]nfO{ ?= 500 sf] gf]6 lbOg\ 
 eg] pgn] slt ?lkofF lkmtf{ kfpFl5g\ < Anu paid a sum of Rs. 500 to a shopkeeper for buying five 
 exercise books at the rate of Rs 40 and two pens at the rate of Rs 25. How much will she receive in 
 return?             [2HA] 

3. ;'dg Pp6f lghL sDkgLdf n]vfkfnsf] kbdf sfo{/t l5g\ . Suman is enrolled in a private company as an      
 accountant: 

 -s_ pgLn] cfk\mgf] tnasf] 
!
"
 efu vfgfdf / 

#
$
 efu 5f]/f5f]/Lsf] lzIffdf vr{ ul5{g\ eg] s'g zLif{sdf a9L 

 vr{ x'g] /x]5, kQf nufpg'xf];\ . If she invests 
!
"
 of her income in food and  

#
$

  part of income in 

 children's education, find out on which heading more money is invested?   [2U] 
 -v_ olb pgsf] dfl;s tna ?= 20,000 5 eg] 5f]/f 5f]/Lsf lzIffdf slt ?lkofF vr{ x'g] /x]5, kQf 

 nufpg'xf];\\ . If her monthly income is Rs.20,000, find the total money spent on her children's 
 education.           [1A] 

 -u_ pgsf] lzIffdf x'g] dfl;s vr{nfO{ bzdnjsf] b'O{ :yfg;Dd z"GofGt u/]/ n]Vg'xf];\ . Write the monthly 
 expenditure done on children's education in two places of decimal.    [1U] 
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4. ;'l:dtfn] cfk\mgf 5f]/f 5f]/Lsf nflu :6];g/L k;naf6 10 cf]6f sndnfO{ hDdf ?= 1200 df lslg5g\ . 
Sushmita has bought 10 pens for her children from stationery costing Rs. 1200 

-s_ Pp6f sndsf] d"No slt k/]sf] /x]5 < What was the cost of one pen?    [1K] 
-v_ 10 cf]6f snd a]Rbf k;n]nfO{ hDdf ?=100 gfkmf eP5 eg] k;n]n] Pp6f snd sltdf lsg]sf] /x]5 <  
 If a shopkeeper made a profit of Rs100 by selling 10 pens, how much had the shopkeeper paid for 

buying one pen?           [1U] 
-u_ ;'l:dtfn] lsg]sf 10 cf]6f snddWo] 5f]/LnfO{ 6 cf]6f snd lbOg\ eg] 5f]/f / 5f]/LnfO{ slt slt k|ltzt 
 snd lbPsL /lx5g\, kQf nufpg'xf];\ . If Sushmita gave 6 pens out of 10 pens to her daughter, what 
 would be the percentage allocated to her son and daughter?     [2A] 
-3_ olb 5f]/LnfO{ 50% snd lbPsf] eP 5f]/Ln] klxn]eGbf sltcf]6f snd sd jf a9L k|fKt ub{l5g\ < If 

50% of the total pen had been given to a daughter, how many more pen would she get?   [1HA] 
5. /ldnfsf] hUuf juf{sf/ / Zofdsf] hUuf cfotfsf/ 5 t/ b'j} hUufsf] If]qkmn a/fa/ 5 . Ramila has a 
 square land, and Shyam has rectangular land, but the area of both lands is equal 

-s_ /ldnfn] cfk\mgf] hUufsf] If]qkmn kQf nufpg s'g ;"qsf] k|of]u ug'{k5{ < Which formula to be use 
 for finding area of Ramila's land?        [1K] 

-v_ /ldnfsf] hUufsf] nDafO 50 m eP pSt hUufsf] If]qkmn slt xf]nf < The length of Ramila's land is 
 50 m, then what is the area of her land?        [1U] 

-u_ Zofdsf] hUufsf] nDafO rf}8fOsf] rf/ u'0ff 5 eg] nDafO kQf nufpg'xf];\ < The length of Shyam's 
 land is four times of its breadth then find the length of shyam's land?    [2A] 

-3_ b'j}n] cfk\mgf] hUufsf] jl/kl/ Ps k6s dfq sfF8]tf/n] 3]g{ rfxG5g\ eg] s;nfO{ a9L vr{ nfU5 <  
 Who needs to spend more on fencing if both of them have to fence a wire for a round the land once.  
             [1HA] 

6. z}lIfs jif{ 2078 df hgtf dfWolds ljBfnosf] sIff 6 b]lv 10 ;Dd egf{ ePsf ljBfyL{]x¿sf] ;ª\Vof tn 
tflnsfdf lbOPsf] 5 . The enrolled students from classes 6 to 10 in Janta Secondary School in the 
academic year 2078 is given below: 

sIff (Grade) 6 7 8 9 10 
ljBfyL{ ;ª\Vof  

(No. of students) 80 60 100 90 70 

-s_ tflnsfsf cfwf/df u|fkmk]k/df :tDe lrq tof/ ug'{xf];\ .  Draw a bar diagram on a graph paper 
 based on above table.          [2A] 

-v_ hgtf dfWolds ljBfnodf z}lIfs jif{ 2078 df sIff 6 b]lv 10 ;Dd hDdf slt hgf ljBfyL{x¿ egf{ 
ePsf /x]5g\ < What is the total number of students enrolled in the academic year 2078 in Janta 
Secondary School from classes 6 to 10?        [1U] 

7. -s_ tnsf] ul0ftLo egfO ;xL eP l7s / unt eP a]l7s n]Vg'xf];\ . State whether the given mathematical 
 statement is true or false: 
        4x2y / 7x2yz ;hftLo kbx¿ x'g\ . 4x2y and 7x2yz are like terms.          [1K] 
-v_ vfnL 7fpF eg'{xf];\ M Fill in the blanks. 

x sf] dfg 5 eGbf ;fgf] 5 eg]/ hgfpg............... n]lvG5 .             
The value of x is less than 5 is to represent as.......       [1K] 
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-u_ Pp6f afs;df 6 kf]sf rsn]6 5g\ . bf];|f] afs;df 8 kf]sf rsn]6 5g\ . olb k|To]s kf]sfdf x cf]6f 
 rsn]6 eP b'j} afs;df u/L hDDff sltcf]6f rsn]6 /x]5g\ < The first box contains 6 packets of 
 chocolate; the second box contains 8 packets of chocolate. If each packet contains x number of 
 chocolate, find the total number of chocolate in both boxes.     [2U] 

8. -s_ Pp6f cfotfsf/ ?dfnsf] If]qkmn 12x2y2 ju{ ;]lG6ld6/ / rf}8fO 3xy ;]lG6ld6/ ePdf pSt ?dfnsf] 
nDafO slt xf]nf, kQf nufpg'xf];\ . A rectangular handkerchief has an area of 12x2y2 square 
centimeter and breadth is 3xy centimeter then what is its length? Find it.    [2A] 

-v_ olb x = 2 / y = 3 ePdf pSt ?dfnsf] nDafO / If]qkmn slt slt xf]nf, kQf nufpg'xf];\ . If x = 2 
 and y = 3, what is the length and area of the handkerchief? Find it.    [2A] 
9. ljb'/;Fu eGbf ljsf;;Fu 8 ?lkofF sd 5 . olb b'j};Fu u/L hDdf 32 ?lkofF /x]5 eg] k|To]s;Fu slt slt 

?lkofF /x]5, kQf nufpg'xf];\ .  Bikash has Rs. 8 less than Bidur. If both of them have altogether Rs. 32. 
How many rupees each of them has? Find it.        [2HA] 

10. -s_ s'g} klg 3g jf if8\d'vfsf] s'gfnfO{ V, lsgf/fnfO{ E / ;txnfO{ F dfGbf ltgLx¿ larsf] ;DaGw 
n]Vg'xf];\ . The vertices of a cube or cuboid is supposed to be V, side is E and surface is F, then write 
the relation between them.           [1K] 

-v_ vfnL 7fpF eg'{xf];\ M (Fill in the blanks.) 
 j[Qsf] kl/lwsf] s'g} b'O{ laGb' hf]8\g] /]vf v08nfO{ ========================== elgG5 .  The line joining the 
 two points on  the circumference of the circle is called......     [1K] 
-u_ ?n/sf] k|of]u u/L 8 cm sf] /]vfv08 XY lvRg'xf];\ . sDkf;sf] k|of]u u/L laGb' X df ÐPXY = 90° sf] 
sf]0fsf] /rgf ug'{'xf];\ . By using ruler, draw a line segment XY = 8 cm. By using compass construct 

ÐPXY = 90°  at X.           [3A] 
-3_ laGb'x¿ P, X / Y hf]8\bf aGg] lqe'h s:tf] lqe'h aG5, sf/0f lbg'xf]\;\ . What type of triangle is formed 

 by joining the points P, X and Y? Give reason.       [1HA] 
11.-s_ lbOPsf] lrqdf AB / CD larsf] ;DaGw tyf AB / AE larsf] ;DaGw n]Vg'xf];\ . In the given 

 figure, write the relation between AB and CD as well as AB and AE.    [2U] 
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-v_ lbOPsf] lqe'hsf sf]0fx¿ rfFbsf] k|of]u u/L gfKg'xf];\ . sf]0fsf 
cfwf/df lbOPsf] lqe'h s:Tff] k|sf/sf] xf], n]Vg'xf]];\ . By using 
a protractor, measure the angles of the given triangle. On 
the basis of angles what type of triangles is this? Write it.   
[2U] 

 
  

12. -s_ lbOPsf A(0,3), B(3,0), C(0,—3) / D (—3,0) laGb'x¿sf lgb]{zfª\sx¿ u|fkmk]k/df cª\sg ug'{xf];\ . oL 
laGb'x¿ j|mdzM hf]8\bf aGg] lrqsf] gfd n]Vg'xf];\ / If]qkmn klg kQf nufpg'xf];\ . Plot the coordinates 
of the given points A(0,3), B(3,0), C(0,—3) and D (—3,0)in a graph paper. Join the points in order and 
write the name of figure so formed. Also find its area.       
 [3A] 
-v_ Pp6} gfksf juf{sf/ cfs[ltx¿sf] k|of]u u/L 6];]n];g tof/ ug'{xf];\ / /ª eg'{xf];\ .  

 By using same measures of square shapes prepare tessellation and fill up the colour.  [2HA] 

 

⁎⁎⁎⁎⁎⁎ 
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gd'gf k|Zgkq (Model question) 

sIff M 7          k"0ff{ª\s M 50 

ljifo M ul0ft          ;do M 2 306f 

;a} k|Zgx¿ clgjfo{ 5g\ . (All the questions are compulsory) 

!= P = {10 eGbf ;fgf ¿9 ;ª\Vofx¿},  Q = {8 eGbf ;fgf lahf]/ ;ª\Vofx¿}, R = {6 sf ¿9 u'0fgv08x¿} 
/ S = {10 b]lv 20 ;Ddsf 3g ;ª\Vofx¿}5g\ M P = {Prime numbers less than 10},       Q = {Odd 
numbers less than 8}, R = {Prime factors of 6} and S = {cube numbers between 10 and 20} are 
given : 

-s_ rf/cf]6f ;d"xx¿dWo] s'g s'g ;d"xx¿ ;dt'No ;d"x x'g\ . Which of the four sets are equivalence 
 sets?            [1U] 

-v_ ;d"x R sf pk;d"xx¿ n]Vg'xf];\ . Write the subsets of set R.    [1A] 

-u_ s] ;d"x S ;d"x P sf] pko'St pk;d"x xf] < sf/0f;lxt n]Vg'xf];\ . Is the set S being the proper 
 subset of set P? write with reason.       [1HA] 

@= ;/:jtL dfWolds ljBfnodf ;~rflnt cfwf/e"t txsf] xflh/Lhjfkm k|ltof]lutfdf rf/cf]6f ;bg ;xefuL 

ePsf lyP . xflh/Lhjfkm k|ltof]lutfsf lgodx¿ ;Fu} 

lbOPsf] 5 : In a quiz competition held in Saraswoti 

secondary school, four teams were participated. The 

rules of quiz competition are given: 

-s_ cGgk"0f{ ;bgn] 20 cf]6f ;xL hjfkm lbP5, 12 cf]6fsf] 

pQ/ g} lbPg5 / 8 cf]6fsf] unt hjfkm lbP5 eg] 

hDdf slt cª\\s k|fKt u/]5 < Team Annapurna answered 20 questions correctly, didn't answer 

12 questions and answered 8 questions incorrectly, then how many marks did the team 

Annapurna secured?  [1U] 

-v_ cGgk"0f{ ;bgn] k|fKt u/]sf] cª\\s ju{ ;ª\Vof jf 3g ;ª\VofdWo] s'g xf], n]Vg'xf];\ . The marks secured 

 team Annapurna is a square number or a cube number? Write down.   [1K] 

-u_ 8, 12 / 20 nfO{ lgMz]if efu hfg] ;a}eGbf 7'nf] ;ª\Vof s'g xf], kQf nufpg'xf];\ . Which one is the 

 greatest number that divides 8, 12 and 20 exactly? Find it.     [2A] 

xflh/Lhjfkm k|ltof]lutfsf lgodx¿  
The rules of quiz competition 
(i) k|To]s ;xL pQ/sf nflu (For each 
correct answer) -+8_   
(ii) k|To]s unt pQ/sf nflu (For each in-

correct answer) -—2_ 
(iii) pQ/ glbPdf (Not given answer) -0_ 
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#= ;ljtf Pp6f ;xsf/L ;+:yfdf sfo{/t l5g\ . pgn] cfk\mgf] cfDbfgLaf6 x/]s dlxgfdf 
!
%
 efu vfgfdf / 

!
&
 

efu lzIffdf vr{ ul5{g\ M Sabita is working in a cooperative institution. She has spend 
!
%
 part of 

her income in food and 
!
&
	part of her income in education: 

-s_ pgn] vfgf / lzIffdWo] s'g zLif{sdf a9L vr{ ulb{/lx5g\ <     
   In which title between food and education will she spent more?    [1K] 
-v_ pgsf] dfl;s tna ?= 18000 eP dfl;s slt /sd jrt ul5{g\, kQf nufpg'xf];\ .  
  She has monthly income Rs. 18000. What is her monthly saving? Find it.   [2A] 

-u_ 
!
&
  / 

!
%
  larsf s'g} b'O{cf]6f cfg'kflts ;ª\Vof kQf nufpg'xf];\ .      

  Write any two rational numbers between 
!
&
	and 

!
%
 .      [2U] 

-3_ 
!
&
	 sf] x/ / c+zdf s'g ;ª\Vof hf]8\bf of]ukmn 

#
!
 ;Fu a/fa/ x'G5\ < u0fgf ug'{'xf];\ .   

  Which number is added to the numerator and denominator of 
!
&
	so that sum is equal to !

"
	? 

 Calculate it.           [1HA] 
$= sljtf xf]n;]n k;n ul5{g\ . pgn] 6 cf]6f sf6'{gdf cfwf ln6/sf] 120 Kofs]6 vfg] t]n l8n/af6 lsg]/ 

NofO5g\ . k;ndf cfPkl5 t]nsf] sf6'{g vf]n]/ x]bf{ 10 cf]6f Kofs]6 km'6]sf kfOl5g\ M Kabita is a 
wholeseller. She has bought 120 packets of half liters cooking oil in 6 cartons from a dealer. 
When she reached her shop and opened the cartoon, she got 10 packets were broken: 
-s_ gf]S;fg k|ltzt kQf nufpg] ;"q n]Vg'xf];\ . Write the formula to find the loss percent. [1K] 
-v_ gk'm6]sf afFsL Kofs]6x¿ k|To]snfO{ ¿=180 sf b/n] a]Rbf pgnfO{ 10% gf]S;fg x'G5 eg] pgn] sltdf 

lsg]/ NofPsL /lx5g\ < If she sold each packets in Rs. 180 from unbroken packets she made 
a loss of 10%. What was her cost price?       [1A] 

-u_ olb 5% gfkmf ug]{ xf] eg] gk'm6]sf afFsL Kofs]6x¿ ?= 200 eGbf w]/} jf yf]/} b/df a]Rg'kYof]{ < u0fgf 
u/L sf/0f;lxt n]Vg'xf];\ . If 5% profit is to be made then the remaining unbroken packets 
should be sold more or less than Rs. 200 each? Calculate and write with reason.  [2HA] 

%=  Pp6f 5 ;]=dL= nDafO ePsf] 3gfsf/ a6\6f / To:t} tLgcf]6f 3gfsf/ a6\6f ldnfP/ ag]sf] csf]{ if8\d'vfsf] 
gd'gf lbOPsf] 5 . A model of a 5 m long cubic block and another cuboidal box made by 
combining same three cubic blocks is given. 

 
 

 

 

 

 

5 cm 
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-s_ lbOPsf] 3gfsf/ a6\6fsf] k"/f ;txsf] If]qkmn kQf nufpg'xf];\ . Find the total surface area of the 
given cubical block.         [1U] 

-v_ lbOPsf] if8\d'vfsf] cfotg kQf nufpg'xf];\ .  Find the volume of the given cuboid. [2A] 

-u_ s] dfly lbOPsf] if8\d'vfsf]] k"/f ;txsf] If]qkmn 3gfsf/ a6\6fsf] k"/f ;txsf] If]qkmnsf] tLg u'0ff 
x'G5, sf/0f;lxt n]Vg'xf];\ . Is the total surface area of the given cuboidal box being three 
times the total surface area of the cubical block? Write with reason.  [1HA] 

-3_ j[Qsf] kl/lw / Jof;sf] ;DaGw n]Vg'xf];\ . Write the relationship between radius and diameter 
of the circle.          [1K] 

^= Pp6f ljBfnosf] sIff & sf] ul0ft ljifodf nuftf/ rf/ jif{df k|fKt ePsf]] glthf tn tflnsfdf b]vfPOsf] 

5 M The table given below shows the result of class Seven of a school in the subject of 
Mathematics for last four years : 

 
u|]8 (Grade) jif{ Years(B.S.) 

2075 2076 2077 2078 
A+ 12 15 12 14 
A 18 8 16 11 
B+ 5 12 7 10 
-s_ lbOPsf] tYofª\snfO{ ax':tDe lrqdf k|:t't ug'{xf];\ . Draw a multiple bar graph to represent the 

 data.            [2A] 
-v_ s'g jif{sf] k/LIffdf ;a}eGbf sd ljBfyL{n] ul0ftdf ‘B+’ k|fKt u/]5g\ < 

  Which years in exam has the least number of students, who got B+ in Mathematics? [1K] 
 
&= lrqdf Pp6f cfotfsf/ v]nd}bfg b]vfOPsf] 5, h;sf] 

nDafO (2x+ y) ld= / rf}8fO (x+3y) ld= 5 . A 
rectangular play ground is shown in the figure with 
its length (2x+ y) m. and breadth (x+3y) m.  

 -s_ pSt v]nd}bfgsf] If]qkmn slt x'G5 < x / y sf] 
 ¿kdf JoSt ug'{xf];\ . What is the area of that 
 play ground? Express in terms of x and y.  [2A] 
-v_ olb x = 4 / y = 1 x'Fbf pSt d}bfgsf] nDafO jf rf}8fOdf s'gnfO{ sltn] 36fpFbf jf a9fpFbf juf{sf/ 
 v]nd}bfg agfpg ;lsG5, sf/0f;lxt n]Vg'xf];\ . If x = 4 and y = 1, which one, the length or 
 breadth should be decrease or increase so that a square playground can be made? Write 
 with reason.           [2HA] 

*= tnsf k|Zgx¿sf] pQ/ lbg'xf];\ . Give the answer of the follwing questions. 
-s_ (a + b )2 sf] lj:tfl/t ¿k n]Vg'xf];\ . Write the expanded form of (a + b )2   [1K] 
-v_ ;/n ug'{xf];\ ( Simplify) M 𝑥'() × x*(+ × x+(,     [2A] 

(2x+ y) m. 

(x+ 3y) m.  
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(. Pp6f c;dfgtfnfO{ ;ª\Vof /]vfdf b]vfOPsf] 5 . An inequality is represented on a number line. 

 

 

 

-s_ pSt ;ª\Vof /]vfdf nufOPsf] sfnf] uf]nf] 3]/fn] s] hgfpF5, n]Vg'xf];\ .   

 What does the black circle on the nuber line represents? Write it.   [1K] 

-v_ b'O{ rno'St /]vLo ;dLs/0f 2x + y = 8 af6 aGg] tflnsf tn lbOPsf] 5 . pSt tflnsfsf cfwf/df   
n]vflrq lvRg'xf];\ .  Table formed by the linear equation  2x + y = 8 with two variables is given 
below. Draw the graph on the basis of the given table.     [2U] 

x 4 3 2 
y 0 2 4 

 

!)= tn lbOPsf] n]vflrq cjnf]sg ug'{xf];\ . Observe the given graph as given below 

 

                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    
                    

-s_ P / Q sf] lgb]{zfª\s n]Vg'xf];\ / PQ  sf] nDafO slt x'G5, kQf nufpg'xf];\ . Writhe the coordinates 
of P and Q and also write the length of PQ.      [2U] 

1 small box = 1 unit  

X 

Y' 

X' 

Y 

O 

P Q 
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-v_ laGb' P / Q nfO{ X– cIfdf k/fjt{g ug'{xf];\ / k|ltlaDasf] lgb]{zfª\s n]Vg'xf];\ . Reflect the points 
P and Q in X- axis and then write the coordinates of their images.   [2U] 

-u_ /]vfv08 PQ nfO{ :yfgfGt/0f ubf{ laGb' P sf] k|ltlaDa laGb' Q x'G5 eg] of] s'g :yfgfGt/0f xf], 
sf/0f;lxt n]Vg'xf];\ .  When the line segment PQ is transformed, then the image point of the 
point P becomes Q. What type  of transformation is this? Write with reason. [1HA] 

!!= tnsf lrqx¿df l;wf /]vfx¿ AB / CD laGb' E df sfl6Psf 5g\ . In the given figure straight lines    
 AB and CD are intersecting at the point E.  

 

 

-s_ zLiff{led'v sf]0fx¿ AEC / BED sf] ;DaGw s:tf] x'G5, n]Vg'xf];\ . Write the relationship between 
vertical opposite angles AEC and BED.      [1K] 

-v_ tnsf] h:t} tflnsf agfP/ dflysf] lrqsf cfwf/df vfnL 7fpF eg'{xf];\ / lgisif{ n]Vg'xf];\ . Make the 
table as given below and fill in the gaps on the basis of above given figure. Also write the 
conclusion.          [2HA] 

 

-u_ AB = 7.5 cm, ÐABC = 75o / ÐBAC = 60o ePsf] lqe'h ABC sf] /rgf ug'{xf];\ . Construct the 
Δ ABC with AB = 7.5 cm, ÐABC = 75o and ÐBAC = 60o.    [3A] 

  

lrq g= (fig no.) ÐAEC ÐBEC glthf (Result) 
!    
@    
lgisif{ (conclusion): 

D 

B 

C 

E A 

D 

B 

C 

E 
A 

lrq g= !(Fig. 1) lrq g= @ (Fig. 2) 
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!@= nDafO 18 ld6/ / rf}8fO 9 ld6/ ePsf] Pp6f elnan sf]6{sf] gd'gf tn lbOPsf] 5 . A sample of 
 Volley ball court having length 18 m and breadth 9 m is given below. 

 

 

 

 

 

 

 

-s_ o;nfO{ 1cm = 0.2 m sf] :s]ndf /]vfª\sg ug'{xf];\ . /]vfª\lst gd'gfsf ;DefJo ;a} /]vLo ;dldltsf] 
cIfx¿ lvRg'xf];\ . Draw the scale of 1 cm = 0.2 m  in the volleyball court. Also draw the 
possible axis of the line symmetry.       [3A] 

-v_ tn lbOPsf] g]6af6 aGg] 7f]; j:t'sf] gfd n]Vg'xf];\ . Write the name of the objects made by the 
given net.          [1K] 

 

 

 

 

 

;dfKt (End) 

  

  

18 m 

9 m 
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gd'gf k|Zgkq (Model question) 

sIff M 8          k"0ff{ª\s M 50 

ljifo M ul0ft          ;do M 2 306f 

;a} k|Zg clgjfo{ 5g\ . Attempt all the questions. 

1. Pp6f e]g lrq lbOPsf] 5 . Given a Venn-diagram. 

-s_ pko'St pk;d"xnfO{ kl/eflift ug'{xf];\ . Define proper subset.
      [1K]  

-v_ ;d"x L sf] cg'ko'St pk;d"x n]Vg'xf];\ . Write the improper 
subset of L.      [1U]  

-u_  olb ;d"x M sf ;b:ox¿ e, i, o, u dfq ePsf] eP L / M s:tf 

;d"x x'G5g\, sf/0f;lxt n]Vg'xf];\ . If e, i, o, u are the members of set M only then what type of 
set are L and M, write with reason.        [1HA] 

2. /fdb]j k|];/ s's/ lsGg efF8f k;ndf uP5g\ . efF8f k;ndf k|];/ s's/sf] cª\lst d"No  ?= 3900 tf]lsPsf] 
5 . Ramdev went to the utensil shop to buy a presser cooker. The marked price of a presser 
cooker is Rs. 3900.  

-s_ cª\lst d"NonfO{ MP / 5'6 /sdnfO{ D n] hgfpg] xf] eg] 5'6 k|ltzt 
kQf nufpg] ;"q n]Vg'xf];\ .   

If marked price and discount are represented by MP and D 
respectively, write the formula to find the discount percent.
 [1K] 

-v_ /fdb]jn] k|];/ s's/df 7% 5'6 kfP5g\ eg] slt /sd 5'6 kfP5g\ < How much discount did 
Ramdev get while buying a pressure cooker on discount of 7%?    [1U] 

-u_ 7% 5'6df a]Rbf klg k;n]nfO{ 17% gfkmf eP5 . ca k;n]sf] k|];/ s's/sf] j|mo d"No slt /x]5 < 

The shopkeeper got 17% profit after selling them at 7% discount. What was the cost price 
of the pressure cooker?          [2A] 

3. ;ª\uLtfn] ?= 100 sf] Ps jif{sf] 5 ?lkofF Aofhsf b/n] cfFk"m;Fu ePsf] ?= 1,00,000 jfl0fHo a}ª\sdf 2 
jif{sf nflu hDdf ul/g\ . Sangita has deposited Rs, 1,00,000 in a commercial bank for 2 years at 
the rate of Rs. 5 interest per annum for Rs. 100. 

-s_ ;ª\uLtfn] jflif{s slt k|ltzt Aofhb/df /sd hDdf u/]sL /lx5g\ < At what percent of interest 
rate per annum had Sangita deposited the amount of money?   [1K] 

  b 
a 

c e 

i u 

o 

L 
U 

M 

Rs.3900 
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-v_ ;f]xL Aofhb/df ;ª\uLtfn] 2 jif{df slt Aofh k|fKt ul5{g\ < How much interest will Sangita get 
in 2 years at the same rate of interest?      [2A] 

-u_ ;ª\uLtfsL h]7L 5f]/L 12 jif{ / sfG5L 5f]/L 8 jif{sL l5g\ . ;ª\uLtfn] cfk"m;Fu ePsf] ? 1,00,000 
5f]/Lx¿sf] pd]/sf] cg'kftsf cfwf/df 5f]/Lx¿nfO{ afFl8g\ eg] h]7L 5f]/Ln] sfG5L 5f]/Ln] eGbf slt 

/sd a9L k|fKt ul5{g\ < The ages of elder and younger daughter of Sangita's are 12 years 
and 8 years respectively. If Sangita divides her Rs. 1,00,000 to her daughters based on the 
ratio of their ages, how much more money will the elder daughter get than the younger 
daughter?           [2HA] 

4. ufpFdf kfgL ljt/0fsf nflu agfOPsf] Pp6f kfgL 6\ofª\sLsf] Ifdtf 37,200 l 5 .  The capacity of a 
water tank to supply water to a village is 37,200 l.   

-s_ pSt 6\ofª\sLsf] IfdtfnfO{ j}1flgs ;ª\s]tdf n]Vg'xf];\ . Write the capacity of the water tank in 
scientific notation?           [1U]  

-v_ pSt ufpFsf] Ps kl/jf/n] Ps dlxgfdf 8520 l kfgL pkef]u u/]5g\ . olb Ps ln6/ kfgLsf] d"No 30 
 k};f k5{ eg] Ps dlxgf kfgL pkef]u u/]afkt slt ?lkofF ltg'{k5{, kQf nufpg'xf];\ .  [1A]  

A family of that village has consumed 8520l of water in a month. If the cost of 1 liter water is 
30 paisa, how much rupees have to be paid for the consumption of water in one month? 

-u_ 0.34$$$$ nfO{ leGgdf ¿kfGt/0f ug'{xf];\ .  

Convert 0.34$$$$ into fraction.         [2U] 

-3_  olb  lrx\gn] 1 /  lrx\gn] 0 nfO{ hgfpF5 eg] 43 nfO{ b'O{ cfwf/ ;ª\Vof k¢ltdf hgfpg     

lbOPsf s'g s'g sf]7fnfO{ /ª\ufpg'kb{5, /ª\ufP/ b]vfpg'xf];\ . If  and  denote 1 and 0 
respectively, which of the given boxes will have to be shaded to denote 43 in binary 
number system?           [1HA] 

 

5. lrqdf b]vfOPsf] ;dnDa rt'e'{h cfsf/sf] hUuf ljdnfsf] 
xf] . pgLn] cfkm\gf]] hUufdf l;rfFO ug{sf nflu 1.4 m 
Jof; ePsf] Pp6f j[Qfsf/ Ogf/ vgfOg\ . The 
trapezium shaped land shown in the figure, belongs 
to Bimala. She made the workers dig a well with 
diameter 1.4 m to irrigate her land.   

-s_ Ogf/sf] 9sgLsf] If]qkmn lgsfNg] ;"q n]Vg'xf];\ . 
   

40 m 

40
 m

 

70 m 
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Write the formula to find the area of well?    [1K]  

-v_ ljdnfn] vgfPsf] Ogf/sf] 9sgLsf] If]qkmn slt x'G5, kQf nufpg'xf];\ .    

What is the area of the well? Find it out.        [1U] 

-u_ Ogf/ afx]ssf] hUufsf] If]qkmn slt x'G5 <  What is the area of land except the well ? [2A] 

-3_ ljdnfn] pSt hUufdf Ps kmGsf] tf/af/ nufpg rfxlGyg\ . pgLn] tkfOF{nfO{ 190 m tf/n] k'U5 ls 
k'Ub}g eg]/ ;f]lwg\ eg] tkfO{Fn] lbg] pQ/ sf/0f;lxt n]Vg'xf];\ .    [1HA] 

Bimala wanted to fence the wire at once on that land. If she asks you whether 190 meter wire 
is enough or not, write your answer with reasons. 

 6.  -s_ 
-!

-"
  nfO{ x sf] 3ftfª\ssf ¿kdf JoSt ug'{xf];\ .  

 Express  
-!

-"
, as power of x.        [1K] 

-v_ ;/n ug'{xf];\ (Simplify): 
-

-	(	/
 – -

-	0	/
      [2U] 

7. b'O{cf]6f ;dLs/0f tn lbOPsf] 5 . Two equations are given below. 

 2x + y = 8 and x + y = 5           

-s_ lbOPsf ;dLs/0fx¿sf] k4ltnfO{ s] elgG5 < What are the system of equations called?  [1K] 

-v_ n]vflrqsf] k|of]u u/L dfly lbOPsf ;dLs/0fsf] xn ug'{xf];\ . Solve the above equations by using 
graph.                        [2A]                           

8. -s_ lbOPsf cleJo~hssf] dxQd ;dfkjt{s -d=;=_ kQf nufpg'xf];\ . Find the highest common factors 
(HCF) of the given algebraic expressions. x2 - 5x + 6 and x2 – 9.   
 [2A] 

-v_ x sf] dfg slt slt ePdf x2 - 5x + 6 sf] dfg z"Go x'G5 < At what value of x, the value of  
x2 - 5x + 6 becomes zero?         [2HA] 
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9.   ;Fu}sf] lrqdf l;wf /]vfv08x¿ LM / PQ nfO{ AB n] j|mdzM E / F df k|ltR5]bg u/]sf] 5 . lrqsf] 
cjnf]sg u/L tnsf k|Zgx¿sf] pQ/ lbg'xf];\ . In the adjoining figure, AB intersect straight lines 
LM and PQ at point E and F respectively. Observe the 
figure and answer the following questions.  

-s_ lrqdf Ps hf]8f j|mdfut leqL sf]0fsf] gfd n]Vg'xf];\ . Write 
a pair of co-interior angles in the figure.   [1K] 

-v_ x sf] dfg kQf nufpg'xf];\ . Find the value of x. [2U] 

-u_ ÐMEG sf] dfg slt ePsf] cj:yfdf lbOPsf l;wf 

/]vfv08x¿ LM / PQ ;dfgfGt/ xf]nfg\ < At what value 
of ÐMEG, the line segments LM and PQ will 
become parallel?  [1HA] 

10. -s_ LM = 8 cm / MN = 6 cm / ÐLMN = 75° ePsf] ;dfgfGt/ rt'e{'h LMNO sf] /rgf ug'{xf];\ 

. Construct a parallelogram LMNO with LM = 8 cm, MN = 6 cm and ÐLMN = 75º.     [3A] 

-v_ ;dfgfGt/ rt'e'{h LMNO af6 b'O{cf]6f lqe'h LMN / LON agfpg'xf]];\ . ca DLMN / DLON 
cg'¿k x'G5g\ egL k|dfl0ft ug'{xf];\ . Construct two triangles LMN and LON from the 
parallelogram LMNO. Prove that DLMN is congruent to DLON.   [2HA] 

11. -s_ lgoldt 6];]n];g s'g k|sf/sf] lqe'haf6 agfpg 

;lsG5 < Which type of triangle is used to 
make regular tessellation?             [1K]  

lbOPsf lrqsf cfwf/df tnsf k|Zgsf] pQ/ 

n]Vg'xf];\ M Answer the following questions 
on the basis of given figure: 

-v_ lbOPsf]  D ABC df laGb' B af6 laGb' C sf] 

lbzfl:ylt 090º 5 eg] laGb' C af6 B sf] 
lbzfl:ylt slt xf]nf, kQf nufpg'xf];\ . In 
given D ABC, if the bearing of point C 
from the point B is 090º then, find the 
bearing of point B from C.      [2U]                              

-u_ DABC nfO{ pb\ud laGb' (0,0) af6 90˚ 
wgfTds lbzfdf kl/j|md0f u/L laGb'x¿ A, B / 
C sf] kl/j|md0f kl5sf laGb'x¿ A', B' / C' sf] lgb]{zfª\s n]Vg'xf];\ . Rotate the  DABC at positive 
90o about the centre at origin (0, 0). Write the coordinates of the image A', B' and C' after 
rotation.              [3A]   

 

A 

B C 

X'  X 

Y' 

Y 

L 
M 

Q 

P 

B 

F 

E 

A 

G 

x 

2x 60° 
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12. /d0fsf] kl/jf/sf] rf/ dlxgfsf] vr{ tn tflnsfdf lbOPsf] 5 . The monthly expenditure of Raman's 
family is given below in the table. 

a}zfv (Baishakh) h]7 (Jestha) c;f/ (Ashar) ;fpg (Sawon) 
Rs. 25000 Rs. 19000 Rs. 28000 Rs. 18000 

-s_ /d0fsf] kl/jf/sf] dfl;s cf};t vr{ slt /x]5 < What is the monthly average expenditure of 
 Raman's family?           [1A] 

-v_ /d0fsf] kl/jf/sf] vr{nfO{ j[Qlrqdf k|:t't ug'{xf];\ . Present Raman's family expenditure in a 
pie chart?           [2A]  
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